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QUESTION 1

After an application is deployed, potential issues arise around connectivity. As part of the troubleshooting process, the
IP address must be determined to ensure end-to-end communication.

Which method provides the required details using the Cisco IOx CLI?
A. ioxclient application status

B. ioxclient application metrics

C. ioxclient application getconfig

D. ioxclient application info

Correct Answer: D

QUESTION 2
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Refer to the exhibit. When a laptop is connected to a device via a serial connection, which action makes the output
readable?

A. Change the baudrate in the connection settings.
B. Reboot the device in case a firmware error is the issue.
C. Change the power level of the device.

D. Change the unicode settings to UTF-8.
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Correct Answer: A

QUESTION 3

Mosquitto was installed correctly on the Cisco IR829 router as a Cisco I0x application. When the sensor is connected to
the broker on the Cisco IR829 router with the default port, the connection is refused (Error Code 5).

Which action should be done to resolve the issue?

A. Insert in the 10S config: ip nat inside source static tcp 1883 interface GigabitEthernetO 1883
B. Insert in the package_config.ini file under section ports: tcp: ['8883"]

C. Use the correct username and password.

D. Insert in the package.yaml file under section ports: tcp: ['1883"]

Correct Answer: C

QUESTION 4

Which two states are applications expected to be seen in when they are managed on Cisco 10x? (Choose two.)
A. DEACTIVATED

B. ACTIVATED

C. ALLOWED

D. STOPPED

E. VALIDATED

Correct Answer: BD

QUESTION 5
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import requests
import time
api_token = "dddS506922b8381le3.VoNzzzNgs¥mKIgjgiAEPXGe-nNFZndzn9n Wv_—gAHY"
organization_id = 900

api url base =

inetic.iofapi/v2/"

headers = {"Content-Type": ication/json",
"Authorization": oken {U]”.f&rmat(api_token]}
r = requests.get (api url baset"organizations/{}/gate ways".format (organization id), headers=headers)
if r.status code == requests.codes.ok:
output = r.json()
print ("Exrorr {}. Message: {}".format(r.status code, r.content))

Error 401. Message: b'({"error code":"invalid api token","errors":["Invalid API token, authentication failure."]}'

Refer to the exhibit. The code and the error message that are received when the code is run is presented.
What causes issues authenticating with Cisco GMM API using the web-generated API key?

A. firewall that blocks authentication ports

B. incorrect username and password

C. incorrect GMM Cluster selection

D. incorrect key size and data encryption

Correct Answer: B

Latest 300-915 Dumps 300-915 Exam Questions 300-915 Braindumps

Latest 300-915 Dumps | 300-915 Exam Questions | 300-915 Braindumps 4/4


https://www.passapply.com/300-915.html
https://www.passapply.com/300-915.html
https://www.passapply.com/300-915.html
http://www.tcpdf.org
https://www.passapply.com/300-915.html
https://www.passapply.com/300-915.html
https://www.passapply.com/300-915.html

